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SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of milk and water in a mlxture
IS 3 :5. We added 10 It water to the
mixture then ratio becomes 3 : 7. Find
the initial quantity of milk.

fASOT # & 3R 9=l &1 37797 3: 5§
&HeT TRSOT 3 10 e Uiy THemaT &,
37eTUTC 3: 7 Y 3T & | G <hl B3I ATAT
ol 9dT oIdT |

»”» a)15
01:00 ) 2
c) 25

d) 30



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of milk and water in a vessel iS
4:7 .1f 25 Itr water Is added then ratio
becomes 6:13 .find the initial quantity of
mixture(in Itr)?

Ueh Sl H g8 3R YTl ol 3eTdTel 4: 7 B
Ife 25 e greiy SIS AT & SUEGRIGH
6:13 B SITdT &, T 0T i URTRS AT
T T SIITT?

01:00 132
0)132

») c)165

d)175




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of milk and water in a pot s
3:5. If we added 10 litre milk and 10 litre
water then the ratio become 2:3. Find
the present quantity of milk?

Ueh Sl H g8 3R 9T T 39T 3: 5 B
3R g 10 aex gy 3 107elex 1l

TR oY 31U 2: 3 81 STl & g8 hr

JAHTT FET AT ITTA?

01:00 <
»» b)30ltr

c)40ltr

d)60lItr




SSC 2022+ CGL+CHSL+CPO / A at 06:30 PM

The ratio of milk and water In a vessel Is

8:5 If we added 44 litre milk and 44 litre
water then guantity of milk becomes
28.56% more than water. Find the initial

quantity of water?

Ush Sl # g 3R

i A 44 e g

QAT &l 39Td 8: 58
3 44 FreT g

fASITT A &1 <! AT dTeit & 28.56%

S ATAT e @

AT Y ?

01:00

AT T IR ATAT
a)48ltr

0)45Itr

») ©)40Itr
d)60lItr
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SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of milk and water in a mlxture
IS 7 : 5. We withdraw 9 It mixture and
added same guantity of water to the
mixture, then ratio becomes 1 : 1. Find
the Initial quantity of mixture.

Ueh [ASOT H ¥ 3{R 9Tl ol 3191d 7: 5
¥ & 9 e RT3 FET & 3R
fR8oT 7 AT AT A 9Tt fAoma g, e
37eT9TeT 1: 1 81 ST & | TRS70T Y Q3tel!
:Pn‘achhl T o497 |

» a)63ltr
01:00 e
C)45Itr

d)60lItr




We withdraw 20 It mixture and added same
guantity of water to the mixture, then ratio
becomes 3 : 2. Find the initial quantity of mixture.

Teh TAAOT & g 3R ITell 7 37741 13: 7 &1 §H 20
AlreX TAS0T il foAehTeld g 3R TRS0T & JHTT AT
#H aTeit Ao 8, oY 31eqare 3: 2 g Sirer g1 fasor
T TR AT &7 9T ST |

a)300ltr
m b)150Itr
c) 180ltr

) d) 260Itr



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of petrol and kerosene in contaln‘erls
4:3. when 38.5 Itr of mixture is taken out and is
replaced by kerosene the ratio becomes 3:4.
then total quantity of the mixture in the container
IS?

el H Uehel 3R fAEE & del T 3e]aTd 4: 3 B
S« TASIUT T 38.5 olieX fAehrall SITdl %ﬁ?ﬁ
fAedt & AT @ deef feaT ST 8, o 31eqar 3: 4 &
EHT-IT%*I fohT e & TS0 Y o AT g

ﬂmm 2)115.5 ltr

» b)154 Itr
c)168 Itr

d)192.5 Itr




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

A jar contains a mixture of two liquids A and B In
the ratio 3: 1. When 24 litres of the mixture is
taken out and 9 litres of liquid B is poured into
the jar, the ratio becomes 3 :4. How many litres
of liquid A was contained in the jar?

Ueh SIR H 3: 1 & 39T H &l el A IR B &l
fRsror @rar &1 ST R80T T 24 olieX AT ST
& 3 IR # 9 ofie ATl B STl STl &, ol 37e]9Td
3: 4 I SATAT &1 SR A Tahdel olled aioT A aTfaeT

ars a)30 ltr

)27 Itr
01:00 )21 I

» d)24 Itr




SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of milk and water in a mixture is 5 : 3.
How much fraction of the mixture must be drawn
off and substituted by water so that the ratio of
milk and water in the mixture becomes 1: 17

forsoT & &1 3R ATl T 31eTaT 5: 3 8| TAS0T &b
foRaaT HATRT fRRTIT ST AT T 3 9T &

g foham STTer =g arfer fasor 7 g 31K
qT=il T 37eT9TcT 1: 1 8T SITT?

a)2l7

b)1/4
01:00 c) 215

»» d)1/5



SSC 2022+ CGL+CHSL+CPO / MM at 06:30 PM

The ratio of milk and water in a mixture i1s 11 : 7.
How much fraction of the mixture must be drawn
off and substituted by water so that the ratio of
milk and water in the mixture becomes 1: 17

fEr310T & &1 3R ATl T 31eTaT 11: 7 | TAS0T &
foRd=AT 19T fAeRTeT SATAT TR T 3R 9Tt garT
g foham STTer =g arfer fasor 7 g 31K
qT=il T 37eT9TcT 1: 1 8T SITT?

W) a)2/11

b)1/11
01:00 c) 218

d)1/5



